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- 2 [# 100. 0 24 & #H* 100. 3
1 i yy 111.3 24 = 1 100. 3
2 &= 108. 1 26 1] £ 100. 1
3 x 3 106.5 27 % % 100. 0
4 w # 105. 0 28 IE B 99. 8
5 # x 103.8 29 Fa) N 99.7
6 -2 i} 103. 4 29 BERE 99.7
7 = = 103.0 31 15 i 99.6
8 # B 102.5 32 B B 99. 4
9 £ Hn 102. 4 33 s A 99. 1
10 I ¥ & 102. 3 34 = K0 99. 0
11 i) B 102. 1 35 e B 98.7
12 W5 X 101.6 36 ® k2 98. 6
12 |©F % 101.6 36 £ g 98. 6
14 i) H 101.5 36 T B 98.6
15 £ W 101.4 - 39 & )i 98.4
16 = b2 101. 1 40 % M| 98. 3
16 o & 101. 1 41 3] m} 98. 2
18 i} h 101.0 42 = =1 97.8
19 %% B 100. 9 43 =1 Jij'd 97.3
20 = B 100. 8 44 x yax 97.2
21 = B 100.6 45 oM 96. 7
22 iz B 100. 4 46 B % 96.1
22 = i cd 100. 4 47 = ¥ 95. 6
W =)

- EEHEFT SBITHEREE THEEDMERER]

-EBHE — o

) HREDMBIRERE L1, HEESBATAIEROMMEGY —E XD

flitg OHIRA 2 255 JIE T BI85 T, £EFEHE100L LizB A OEEMERT
BFFETOBMOMIREZEE R LTS,

— 100 —



